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Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following quantities is a vector?

Options :

lg Speed

2. — "
" Gravitational Potential
3.

T

v orque

4. :

- Energy

Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frafef@aa & O S d@r T afger §7

Options :

1. =

#

2. e fawa
® =

3.

o I aw

4. :

#

Question id : 6038 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 3 ms™ for 10s. It then runs at

ok 2 3 s +
constant speed for 20s and decelerates at Sms™ until it stops at the next station. The distance between
the two stations 1s:

Options :

; 840m
2& 740m
; 640m
4. 340m
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Question id : 6038 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T AN I R Hawr ¥ vE A § o § Y 10 55 dF 3ms? F ax &

afy gerdr §1 =9% dig ag i 20 99E 9@ Fuiladaele afg @ dledr ot e
3R T X Tahel O 5ms2 #T eX F AT T HH war £ S TRt & dr @

g foraet &
Options :

', som
2 740m
3. 640m
4 3dom

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The escape velocity for a body of mass lkg from earth’s surface 13 11.2kms | the escape veloeity for
a bodv of mass 100kg would be:

Options :

]‘ 2

s 112107 kms!
2.

% 112kmg?

3,

»  112kms!

4,

% L12kms!

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
el #1 |@aw T 1kg ZEdAE & 05 7 garas dar 11.2kms ! & _&r 100kg geadT &

s &1 gorae A9 fhdar g
Options :

L 112102 kms!

i 112 kms

z} 11.2 kms™

‘; 1.12 kms™

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bemoulli's theorem 1s a consequence of conservation of:

Options :
1
- E :
v nergy
2 M
w  Momenfum
ié Angular momentum
4.
% Mass

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TART FT v =98 § s TaTor & 9o §

Options :
L st
P
S ol wde
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Question id : 6041  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The zeroth law of thermodynamics mtroduces the concept of:

Options :

1.

*® Heat

2. Temperature

4

:; Entropy

‘; Internal energy of the system

Question id : 6041  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FeAETAEr & eadl 0 S fFE SEauRoT # R #ar 6

Options :

|

#

2 e

7

SR

#®

‘; WOTRlT T 3RS Fett

Question id : 6042 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The temperature at which the molar specific volumes for liquid and vapor
phases become equal 15 termed as:

Options :

lg Boiling point

2. Cntical temperature

Y

3. Triple point

#

4. 7 . o

“ Temperature of vaporization

Question id : 6042  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
g% dIAd T FEAdl § o T &g & fov A fafise smaaa 3w arsg gmasn

TR &1 A &
Options :

; EEHEIED

ff ERIGCGIE eI

% P g

‘; arsdIeRoT &1 ATTHT

Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The temperature of the reservoir of a Camot engine. operating with an efficiency of 70% 15 1000E.
The temperature of ity sink 1s:

Options :

b 30k
% 400K
3 S00K
3 700k
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Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
70% &TACT & |1 IRENTod U FIlc Soiel & FEATT & agA= 1000K §1 566

o &l aTgHTe 4T &

Options :

', 300K
2 400K
3 500K
4 700K

Question id : 6044 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A tuning fork. vibrating with a frequency of 90 Hz. is moving towards an observer with a with a
speed of 0.1 fimes the speed of sound. The frequency of the note heard by the observer would be:

Options :

L osom
2 90Hz
3, 100Hz
1 10H

Question id : 6044 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
90 Hz & 3Mgfed W FITAW Teh Tai#, eafd & a1 &1 0.1 a1 I §, JaTeh Hr

IR F¢ @7 ¥1 VaTF aaWT e AW T T T 3fed Far g

Options :

L 80 Hz
290 Hz
3, 100 Hz
4 120 Hz

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a desert, a beetle’s motion sends fast longitudinal pulses. vy = 150 ms!. and slower transverse
pulses. vg =50 msL, along the sand’s surface. The sand scorpion has eight legs: spread roughly mn a

circle of 5 em diameter. intercepts the faster longidudinal pulses 4.0 min earlier than the slower
transverse pulse. The prav 1s located at a distance of:

Options :
lg 3em
fk 30 cm
3& 3im
A; 30m

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

ueh IAEarE A v 3 dh aifa Ycfiel Wag W dig seeed w9 v =150 ms”

3 o 3wy T vs = 50 ms” SIS §139 & faeg & e & § A oememT S5cm e 7t €
St e aeteed T @1 Y Ieue Tg & 4.0 fAwe gpe safaa & ¢ ReR e g w R &

Options :
1.
s 3em

2.
v 30cm
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3m

30m

wH g

Question id : 6046 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Y and Z are two partially reflecting glass sheets. a distance / apart in air. White light falls normally
on Y. The light emerging from Z 15 analysed by a spectrometer. A dark band 1s observed in the
spectrometer at a wavelength . The distance / must be equal to:

-

je (=
v ¥

Options :

1.

*® n\/2

2 (1202

4

3.

o (/42

4.

o (20

Question id : 6046 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Y 3R Z & 8% ®9 & Wrads Fi H fed § S gar # veh g & /gl W oawerr

3T T E1 Y R OHTd: Tthe YT USaT &1 Z § 38Re arel USRI T feemT U
TFgHeR @Rt fFar ar §1 vE aXer v W SegiHey # U Ay W@ H dvs dEr
ST B g8/ 3O & RS auer gl @i

ey

| 0 —
v 2

Options :

1.

. n\/2

2.

(n+12)02

3 (a2

#®

4.

b @

Question id : 6047 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
According to Curie-Weiss law

Options :
—
v = T-9
2. o C
x I T+6
3.

?:_

® AT
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Question id : 6047 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FOU a0 oA & 3R

Options :

1. __C

v T3
2. _C

x *~Tie
3. ._ C

x LTgT
4. . _C

x *“Tg

Question id : 6048 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A 50uf capacitor i a defibnillator 1s charged to 3000V, The energy stored in the capacitor 15 sent
through the victim during a pulse of duration 2 ms: the power of the pulse is close to:

Options :

L 50Kw

2, 15w

3 1s0kw
T 200kw

Question id : 6048 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U EwEgeed # 50uf & FUHRR FT 3000V OF FETET AT AT &1 2 ms 3@t &

e & T Suder #§ wR 61 S I Afaes F Amas § 86 Fdr g w9g @

orfea oleTeaT B
Options :

1.

5 50 Kw

2.

v 75 kW

3 150 kW
®

4.

L 200kw

Question id : 6049 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two parallel beams of electrons moving in the same direction will:

Options :
1.
repel each other
2 P
2. : . :
% will not interact with each other.
3.
5  aftract each other
ié be deflected normal to the plane containing the two beams.

Question id : 6049  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e g1 feem & aifaan seiaeie &7 & AT fRor g

Options :
T TR T A F

L

2. 5 5.
. Teh GER @ HeITdd A6l e
3.
#®

TF I B AT Sl
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; a1 faoT geit &1 TATaSE e arel SHdo & 3R AT §T F HS A0

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A magnetic matenial when placed i a magnetic field 1s pulled out of it. The material 1s:

Options :

1& Paramagnetic

fk Diamagnetic

; Ferromagnetic

A; Antiferromagnetic

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

99 T I IS H U Gradid & 7 {@a], 36 JFahrd & I ap] SY forar
AT g1 ar 98T

Options :

; FTFaR &

fk wicaFah &

; dlggradT &

1 cfggraw R &

Question id : 6051 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The earth’s magnetic field at a given poimnt 15 0.5 Whm™. This field is to be annulled by magnetic
induction at the centre of a circular conducting loop of radms 5 Ocm. The current required to be
flown in the loop 1s nearly:

Options :
Loo2a
2, 044
3 4a
% 404

Question id : 6051 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
wF v aw fig W edt & gFed™ & 0.5 Wbm? #1 5cm 31eI & GedeR

AR o & & U FIh WROT GART S & & foISthel faRAT ST &1 o9 H weligd
TorT ST & T 37OTeT faega varg oemser oo g

Options :
Loo02aA
2, 04A
3 4A
1 o40A

Question id : 6052  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a bee structure. the packing fraction 1s:

Options :

lg VZ w6
i '3

4
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A; V56

Question id : 6052 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Us SR ST H, Tl 3 SHA & & 6

Options :

L Vzns
2 3

3.

v (mV3)8
T VEu

Question id : 6053  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Electric field intensity at the centre of uniformly charge distributed hemisphere 1s

Options :
1. &
 4g,
2. 1o
# g
3. 9
®  2g
4. =
®

Question id : 6053  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T AT T ¥ AT e & &g @ Aega & draar &=21T g ?

Options :
1. o)
o dg,
2. 2o
® g
3. o)
® g
4. g
% g

Question id : 6054 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
What 15 the difference in temperature of water at the top and bottom of a rainfall of height 300 mts.

(Sp. Heat of water = 10% call kg & T=42 J/cal)

Options :
Lo20c
2
-:; 1.16°C
1 asc

Question id : 6054 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T 500 Hex S a9t (rainfall) F ofrd 3R g9 W O & SUAES F F9T HaT gET 7

(ar=fr & Taferse ZwAT water = 103 calkg & J = 4.2 Jical)

Options :
1.

% 20°C
2. 20¢

E
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1.16°C

3.
L4
4.
u  4.9°C

Question id : 6055 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Energy of a photon of wavelength 3890A° emitted by sodium vapour lamp 1s

Options :
Loo21g

2 21MeV
S 21
1 21cal

Question id : 6055 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T WA T BT oIRT Iadreid 5890A° TRAIGES ATt Wiier T Feit griT

Options :
L2y
221 Mev
5 21ev
1 21cal

Question id : 6056 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two springs are connected to block of mass M placed on a frictionless surface as shown below. If

both the springs have a spring constant k. the frequency of oscillation of the block 1s:

ANNNY

- LA
5 Z
/] 4
Z 7
Ve ~YY YV - i”
9wk /
J‘,T;r"l"'wj"' s e ﬁ ,-i

AN

1 S A :
AT 7] TT7 7T,

Options :

Question id : 6056 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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Question id : 6057 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The occupancy probability P(E) according to Bose-Eisntien statistics 1s:

Options :
; (exp(E/RT) - 1)

l/exp(E/RT) +1)

2.
#®

3 I Nexp(ERD) - 1)
x SRR

4 —
o 1/(exp(-E/ET) +1)

Question id : 6057 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
- IMSTersd & Eel & TR HERh Sefafed P(E) sa3 o fhaeh &

Options :
1(exp(E/KT) - 1)

L

1/exp(E/LT) +1)

2.
®
3 Wexp(-E/AT) - 1
L U(exp(-E/KT) +1)

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the distance between sun and earth were reduced to half 1ts present value. then the number of davs
in one year would have been

Options :
L6

2, 129
3 258
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4.
“ 730

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o T 3R Tt & frer 1 g adwnT ol Fr smedr g oo A v af 7 e e

g ?
Options :
k65
f? 129
3. 258
4 730

Question id : 6059 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following 1s not the Maxwell's equation ?

Options :

1. A=

P divD=p

2. csii 2 =

) divB=—p,J

3 = —éB

% curlE = ?

Y nE=7+ 2
cit

Question id : 6059 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
rafaf@a & ¥ Sl Aeader &1 T 761 § 2

Options :
divD=p

divB= —poj

R N s

8>

Question id : 6060 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of modes of vibration per unit volume between 10, 000A° & 10.020 A®1s

Options :

L 377 10M vib®
22514 viba®

3. 15 AL
iy 37.7 = 10°7 vib/my
4 377 %108 vibimd

Question id : 6060 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10, 000A® & 10,020 A® & == 9fd S&E ciold & AT ol J&r &

Options :

L 377 x 10" vib/m?
2 o5 ihim3

% 29.14 vib/m

3, 377 x 1015 vib/m?

>
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® 377 x 108 vib/m?

Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The colours seen i the reflected light from a thin film are due to:

Options :

1. ’ ;

*® Diffraction

2. Interference
o

3. Polarization
#

4; Dispersion

Correct option is 2 and hence changed answer to 2.

Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U gt fhed O Wafdd e # @1 R s ¥ s i

Options :

Lo e

®

2. STeRToT
"4

3 erdRger
4 5

b

#®

Correct option is 2 and hence changed answer to 2.

Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two coils. each of self inductance L. are closely wound i series such that the sense of their winding
1s opposite. The equivalent inductance of the combination 1s:

Options :
Lo
~ L
; Zero
Lo

Correct option is 3 and hence changed answer to 3.
Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
2l el SR ¥ 9de &1 L FE-Racd § AT A 59 YRR HEAR o9dl IS § 6

Ity A 99 faadia §) WA # gedih Wehed TRl o

Options :
Lol
2w
; Zero
FE

Correct option is 3 and hence changed answer to 3.

Question id : 6063 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The torque experienced by a magnetic dipole. having dipole moment M, when placed i a uniform
magnetic field of intensity B 1s:

Options :

1.

. MB

2.

. MB
5. Ml

*® |B|

4.

< Mx B

Correct option is 4 and hence changed answer to 4.
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Question id : 6063 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
vs graha gfaga e cfaya vt M g, @ S B vaddl & AT gradid &

# @ ST §, A 3% @ 3ffEa fEar St aren 3wyt haer &

Options :
1.
" MB
2.
- M.B
5. Il
N )]
4.
< MxB

Correct option is 4 and hence changed answer to 4.

Question id : 6064 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The magnetic field. due to a circular coil of radius a. carrying a current I at an
axial point distant = from the centre of the coil, 15 given by:

Options :

B = (ugia W(2a+2) 2

L

B = (ia" Q@ +Y')

2.
%
3. B widVa 2
% B=oia)(2a+=)
‘; B = (p ia)( a*+= )

Question id : 6064 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U TrEIHT 4 A FSA @ F gedlhR 5ol & FROT FXe [ FaIed &, Hsell F F
¥ el fig & z g W & #1 &9 v wuad TR S i

Options :

L B = (PHAP+ AP
2B = (D)

3B = (WD)

% B = (@ P2 )

Question id : 6065 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The London equation 11 a super conductor 15°

Options :

; viB= B(lll{.‘l)-'(4'ﬂ' nql)
2 v2B - Bame)i(dmg)!?
7 = B(me~)/(4mq-)
3. 2n_ 2, 22
%V -B=B(mc?)/(4mng")
4. s )

w O B = B(mc~)/(4mq-)

Correct option is 2 and hence changed answer to 2.
Question id : 6065 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T oo # tied AT a8 O @ B

Options :

L v2B = Bmc/(4n nad)
2. 2n 2 24112
Y B = B(mco)/{dnng)
3. 2n = 2 2,2
« VB = B(mco)/(4nng*)
% AB = B(mc)/(4nng?)

Correct option is 2 and hence changed answer to 2.
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Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The following differential equation

a(d?y/dx?) + b(dHy/de?)’ + cxy =0

is of:

Options :

1.

% first order

2. second order
4

3 geroth order
5  zeroth order
4, <

% third order

Correct option is 2 and hence changed answer to 2.
Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TATeET Aadd AT

a(d?y/dx?) + b(d2y/dx2)2 + cxy = 0
S
Options :

L o Ao £y 3

2, it Achr & &

3 ey Aok A}

1 g Ak

Correct option is 2 and hence changed answer to 2.
Subsection : 2, Question Shuffling Allowed : Yes

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If f 1s twice differentiable such that f"(x)=—f(x) and f'(x)=g(x). h(x) :[ i (::c)]J +[g(x)]:
then the value of h(10) if h(5) = 11 1s equal to

Options :
l

% 2

2.

- 8

3.

v 11
4.

w 1

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ffg f &1 AR 3@sheretta ¢, S &6 () =) AR D =2(0).

") =[f@] +[g@)], a aare & afe h(5) = 11 & @ h(10) &
AT foheh SE g

Options :
L5
2 8
o
o

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The ponts at which the tangent to the curve v = ©+51s perpendicular to the line

xt3y=2 are
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Options :
1. =
v (1.6).(-1.4)

2. .

o (L6).(4
3, ;

o (GD.-D)
4,
L6D.(14)

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
7 fog ®la & & B9 W ak y = x>+5 7 TaR@r x + 3y =2 @ & @Faad §

Options :

v (16, (14)
2 (16), (1,4)
361, (41
L6, (14)

Question id : 6069 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
i) F % 2 2

If w=sin? = I+tant| £ then the value of ::fg+;|.'E 15
‘u\‘_ h Jf 3 j dx !

Options :

s
i 2u
3 3
oo

Question id : 6069 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ooy Flo - -

LTy u=sin| X |+zan?] 2| & oar J(E+J.'g T, AT & &
| 7§ |
\») \x) ax &

Options :

Lo
i 2u
3&% 3u
Lo

Question id : 6070  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The solution of the differential equation (¥ +x)° d_ =g 1s given by
-

Options :

1. " " (¥=¢)
y+x=agtan|
s L a )
2. " (y—c)
y—x=tan|
# L a )
3. X
—x= atan( v—
« Y-x=a an(y—c)
r B
f &
L a0-o=tm v
L a,’

Question id : 6070  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Taeicer gaeT (J.'+x):§:a: FT T SAH & e c@nT & S §
X
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Options :
I + t (¥=<)
v+x=atan,
& La )
2. i fy—c)
¥y—x=tan
® L a )
ié y—x=atan(y—c)
r N
4. ( |
a(y—x)=tan, v ——
® L a,’

Question id : 6071  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Eliminating a and b from the (x—a)* + (v —58)* +z° =¢? the partial differential equation is

Options :

1. 2 2
w Z(p—gqtl=c
2. z:( 1, :+1)—Cj
¢ ZW+a+h=
3. 2.1, 2 1

w 2P +g)=c

4. 2 2

w Z@-g=c

Question id : 6071 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(x—al +(y=bY+2 =¥ a 3 b Twe & & ¢ H9F TdcH FHTIor s T

Fle ar g

Options :

1. 2 bl
w Z(p—gq+l)=c
2. 2,2, 1 bl
v Z (p+g +)=c
3. 3303 . 5 1
w ZW+a)=c

4. 2 2

w Zp-g)=c

Question id : 6072  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The series " (2x)" converges if
=l

Options :

Loasxs
2 2sx<2
f? —%-:x-:i%
§ el

Correct:)ption is 3 and hence changed answer to 3.
Question id : 6072  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Aol 3 (2" fEERT O € 3l

Options :
S P
2 2gx<2
3. —lcxcl
¥ 2 2
4. ! 1
—_—
¥ 7_3(_7

Correct option is 3 and hence changed answer to 3.
Question id : 6073  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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The sequence {S,} definedby 5_, =.17+5,.5 = ] converges to

Options :

1. 2y 3 =

\/ Positive root of x*—x—7=0

*® Negative root of x* —x—7=0
3. = 3 i

s  Posttiverootof x" +x—7=0

4.

#

Negative root of x* +x—7=0

Question id : 6073  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
S =T+5.:5=7 carr oftenfoa srprSnt sent & et sl e

Options :

LA =_

v x —x .*—Uaﬂﬂmﬂ“ﬂ
i x'—x~7=0 & RONcH® He
3. P4x-T=0 @ gelcHE oA
w ™

1 P 4x-T=0 & HOTHF Fq

Question id : 6074 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of cosets of H in G. where G = (2, +) and H = 42, +)1s

Options :
1.
w 0
2.
v 4
3.
x
4. )
x 2

Question id : 6074 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
G#H H& TE Gl & OC 567 T FAT 6, 981 G = (Z #) IR H = (4Z )&

Options :
Lo
> 4
o
+o2

Question id : 6075 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If R 15 commutative ring with unit element, 3 be an ideal of R and R/M is finite integral domain then

Options :

L, o

& M 15 a maximal ideal of R
2 Mis minimal ideal of R
3. Mis avector space

#®

4. -

“ M1s acoset of R

Question id : 6075 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e Soe Hadd & O A HEAEET 90T §, M R @ Ud e ¢ 3R AWM aiifEg
FHGS S &, ar

Options :
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M, R &1 3fEeas e &

M, R & #aas Ay &
M T Tfeer Taeena &

M, R & 9% ¥9==9 ¢

> wP e8> (-

Question id : 6076 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let A be an nxn matrix from the set of numbers and 4 =34 +44—67=0 where [ 1s an nxn

wnit matrix. If A7 exists. then

Options :

1. -1

e At=4-T

2. -1

x A =34-6I

é; AT =A4+61

R l[’ AP =34+41)

Question id : 6076 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT AT 6 §Easl & 06 990 A ¥ nxn AEE § 3R £ -347+44-61=0

6l | Th nxn S Afeag § 41 G ar &, o

Options :

1. -1

o At=4-T

2. -1

g AT=34-6I

é; AT =4+61

T - l[’ AP —34+4I)

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

6 2.2
If the product of two eigen values of the matrix | -2 3 —1| 1s 16. then third eigen value 1s
2 -1 3
Options :
Loy
¢ 2
2. 4
% 2
3.
. 36
4.
o 0

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

6 2 2
Agaw (-2 3 -1| & & sifEwEitie (3n5de) AWl & AU 16
2 -1 3

g, or I faeeTvE (3SA) A 398 ¥ =T §

Options :
L2
z 2
33
106
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Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If 3x+2v+z=0, x+4v+=0, 2x+y+4-=0 be a system of equations then

Options :
it can be reduced to a single equation and so a solution does not exist
1t has only the trivial solutionx =y =-=10

1t 15 consistent

determmant of the matrix of coefficient 15 zero

P> w>L LD g

Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tie x+2y+z=0, x+dy+z=0, 2x+y+dz=0 TFEEIUI & 9Ol & ar

Options :
TE HET Y UF GHEUT g FH 6 o dehdr ¢ 3 59 usr o A6 e

SHRI TF B FA X =y =z=0%
I PN &

U & AT & AR e E

P w2 LD g

Question id : 6079  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a coordinate system 1s attached to a rigid body and one describe the position of any particle

relative to it. then such coordimnate system 1s called

Options :

frame of reference
coordimate system

space time reference system

P ow» 8> {—

Space time distance veloeity system

Question id : 6079 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
IR UF GHAT UUTE (F3iifSeie OECH) TS oK U5 & o5 65 ¢ 3N $1S SAd9 a9
orell @or 7 Feufd &1 avier sear § O 59 d¥g & Teag YOTmir & ST &gl ST ¢

Options :

L

o el fawme

i HH-GT YOIl

3. R Wt women
4 feamrer o Ao gome

Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a small displacement of a system from the rest position (after getting some energy) results i a
small bounded motion about the equilibrium position. then the system 1s i

Options :

neutral equilibrivm
Unstable equilibrivm

Stable equilibrivm

P L w> w-

Natural equilibrivim
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Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I Rl vomel d faare & Fuld @ B2 § favuas &1 IROTA (F3 el 9ed e

& dIe) "FEEeT # o 9@ afd giar § af gonel saa & few Rufa A ¢

Options :

L ewer s

i AT TR
ff' TATT FFITaEYT

‘; AT FETETAT

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let I"be a 3 dimensional vector space with 4 and B its subspaces of dimension 2 and 1 respectively.

If AnB= {0} then

Options :
Lov=4-3
f? V—A+B
3 v-4B
Y v-as

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
"I fSw & Ve TmaET gieyr Taeue ¢ fEae A 3R B e 2 # 1 smmEr

& 3u-fegvue §1 I 4nB={0} & ar

Options :
Lov-a-3
5, V=4+3B
3 v-4B
Y v-as

Question id : 6082 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Consider the linear transformation T :R* = B* given by T(x v.z.u) =(x, 1. 0.0)¥(x, v, z.u) e B

Then, which one of the following 15 correct?

Options :

; Rank of T = Nullity of T

i Rank of T = Nullity of T
; Rank of T = Nullity of T=3
4.

Rank of T=Nullity of T=2

Question id : 6082 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T(xy.z0)=(62,0,00v(xy.z.u) e R a1 U a0 W@ TR0 TR >R W
AR SIfev| sad a aasv & Weaeiad # O $ia ar 98 57

Options :
T & & > T & oeaar

T & ¥ < T & ear

L.
E
2.
#®
S T# Y > T & e = 3
4,
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Y TaErE > T & gpaar = 2

Question id : 6083 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The order of convergence of Newton Raphson method i

Options :
Lo,
¢ 2
2.

w 3

3.

w 0

4.

w 1

Question id : 6083 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ool TRTe fafer & SfERoT-aT s ¥ = §

Options :
b2
Z 3
30
o

Question id : 6084 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The maximum step size h such that the error in linear interpolation for the function

v =gsinx in fo,7] 15 less than 5x107 15

Options :
Loom
2 0002
3 004
4 006

Question id : 6084 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ferhad BT AT (TeT @59 h 59 R ¢ & fon] & v = siix Bed & feiw

ifaw siades 7 Ffe 5x10° & & &

Options :
', 002
2 0,002
3 0.04
% 006

Question id : 6085 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A curve 15 drawn to pass through the following

X 1 15 2 25 5] 343 +

¥ 2 24 4 2.8 3 2.6 24

The area bounded by the curve. x-axis and lines x = 1. x = 4. The volume of solid generated by

revolving this area using Sumpson’s 3/8 rule 15
Options :

1. S
« 0854
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f? 6538
3 638
4. ;

L6438

Question id : 6085 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T OF IEAead ¥ 57 Y o & oY S 4w g

X 1 15 |2 2.5 3 35 4

y 2 24 AT 2.8 3 26 2.1

@k, x-3167 3R W@ x = 1, x = 4 g@n &1F 9Rew e wmr §) fEres & 38 Taw
& TRT FF 56 & H A arel S $T A S8 § #7476

Options :

L 6854
f? 65.38
3. 63.58
4 6438

Question id : 6086 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The function w = log = 1s analytic everywhere except at the value of z then z 1s

equal to
Options :
L.

« !
2.

w 1
3.,
x 2
4.

@ 0

Question id : 6086 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
zZ & AT F Al Bold W = Jog z 9o T X GeeOcaE ¢, of z fhEd atel

&
Options :
Lo
21
32
oo

Question id : 6087 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The Taylor series expansion of 2:|z|«:1 is
=l
Options :
1 1 2 20
N P S|
®
2l 274 8 7)
2 1. z 2 =z
v Mt
1, z 22 £ )
% mgh I g g
“\ = 4
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1 z z \',
i)

Question id : 6087 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
<1 @ oR Aol edR s & @i a1 ¢

|

e

Options

1 1 2 200

* 77 TTE)

) 1. z 2 Z 0
—— o+

L4 2 2 4 8 j
17z 22 F \',

% gl b ]
gk, ® - J
1 z & 2 \',

L gl K g
. - J

Question id : 6088 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let x be a non-optimal feasible solution of a linear programming maximization problem and v a dual

feasible solution, then

Options :

ié the primal objective value at x is greater than the dual objective value at v
i the primal objective value at x can be equal to the dual objective value at v
f? the primal objective value at x 1 less than the dual objective value at ¥

ié the dual can be unbounded

Question id : 6088 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
i v ITEd AR ATaEaHeoT (SEHT ATTaAs-ie) TATar & U6 R-55caH <Oded AT X § 3R v ST sgagd AT §, ar

ions :
Zptoxswqﬁ%aﬁﬁ%m,ywmaﬁmmﬁmmm%
2 x O gRAE TEqeSe A, y O 6t avdfee A & SNt {1 dhr
3, x W IR awgfete AF, y R A6 avqiets A T 3 4 6 €
1 AR (3gI) F HURAE (rss) R S FeRar &

Question id : 6089 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A square 15 a convex set, its exterior points are

Options :

L. ertices of square

sides of squares

inside of square

g 8> 8d

Outside of square

Question id : 6089 Questlo e: MCQ (Cogrgct +1.0, Wrong - 0.0)
T 3T U 3cdel AT amgr AFEE ?

Options :

l. N
L @ x g
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4.
%

TET T AET AT

Question id : 6090 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let A be a set having p elements and B be the set having “q” elements. the number of relations from

AtoBis
Options :
L 4

% 2

2. e

x 2

3. am
v 2

4. P+
w 2

Question id : 6090 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I A TEh T ¢ O P aaa B 3B HEe % g yawa B, AW B d&
Haell & JwEar s &

Options :
Lo o
% 2

2. e
% 2

3. ome
v 2

4 e
% 2

Question id : 6091 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following is a null set?

A={x:xisprime}

B={x:x+8=8}
C={x:x1+1=0.xi.sarea1r1umher]

D= {x:x1=4_xisaninteger}

Options :
il
2 D
3 oA
% B

Question id : 6091 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frafaf@a & @ wla a1 ve Rea wge=a §2

A={x:x 3T B}
B={»x:ix+38=8}
C={x:x2+1=0, x teh arcdider G&&T &}

D ={x:x%=4, x o qofics &}

Options :
Le
2 D
3 OA
4.
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®

Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The locus of poles of normal chord to the parabola 3 =4ax is

Options :

L (x+2ay7—4a'=0
2‘ 2 3
v (x+2a)y" +4a =0
3. P S
* (x—2a)y " +4a” =0
1 (x-2a)7 —4a’ =0

Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Waed ' =dax & WHET ST & @FA F fdag g

Options :

L (2097 -4a’=0
2. iR B

v (x+2a)y" +4a =0
3. Iy g =
" (x—2a)y"+4a° =0
1 (x—2at—4a =0

Question id : 6093 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The equation of plane which passes through the point (2. -3, 4) and 15 parallel to the plane 2x — 5y —

Tz=061s
Options :
Loxosy-7z-9=0
2 x5y-7z+6=0
f? 2% -Sy—Tz+9=0
‘; 2xSy-Tz-6=0

Question id : 6093  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3T A F FAGOT F1 § S 6 (2, -3, 4) § & N S ¢ AN @A 2% - 5y -
7z = 6 & AN &

Options :

1. i

- 2x 5y -7z- 9=0
2. =

- 2x 5y -7z +6=0
3' - - —

v 2X 5y -7z2+9=0
4 oxBy-7z-6=0
%

Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The value of || [ yzdydz + zxdzdx + xydedy ) where S is the surface of unit sphere 2414 =1 is

Options :
Lo

é 4T
5, ann
Y 0
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Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
[[(vzdyeiz + xcdzcix+ xyduay) o7 #ToT 578 F @ & STET S FHE &7 T FAw

_\Ez+;|.')+z) =1 &

Options :
Lo

é 4

3 4z B
1 107

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
1

The value of [ F(X)de where f(x)=1-2xx=0; f(x)=14+2xx=0 1z

-1

Options :
1.

x 2

2.

w 3

3.

v 4

4.

w 0

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
1
| J(Xdx. where f(x)=1-2x,x=0; f{x)=1+2x,x20 o1 HT T &

-1

Options :
L2
Z 3
34
L0

Question id : 6096  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The volume formed by the revolution of the loop of the curve

yia+x)=x(a—x) about x-axis is

Options :
25 (8)
——a log| — |
* 3 gi\e‘,
2. 2 5. [4Y
—aa log| — |
% 8l
3. R
——7a log| — |
* gi\e‘
4. 2 - a8
—aa log| — |
v 3 g;\evr

Question id : 6096 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
X-3&T & HHIE aF y(a+x)=x(a—x) & GAET & INFACT gant 19 3G &-

Options :
1. ;o (8)
—7a log| — |
® “let)
2. 2 3 \ (43
. —aa log| —
® 3 g | e jf
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English Language

Section type : Online, Number of Questions to be a pted:20, Mandatory or Optional: Mandatory, Section Marks: 20.0

Subsection : 3, Question Shuffling Allowed : Yes

Question id : 6097 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- ABANDON

Options :

lg Possess

2& Keep with
3. 3

@ forsake

4. .

. union

Question id : 6097 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word simalar in meaning to- ABANDON

Options :

1. ;

% Possess

2. " y

- Keep with
3. ]

& forsake

4, -

s, union

Question id : 6098 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

; Irritate
éé Decline
éé Praise
% Excited

Question id : 6098 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

\I? Irritate
ZQ Decline
:; Praise
4 Excited

Question id : 6099 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropniate for the phrase: Grve one a long rope

Options :

I to let someone commit mistakes

GET IT ON

Google Play
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to give a big helping hand
to support a person

to make 1ssues of small matters

g 8L 8> ¢

Question id : 6099 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Grve one a long rope

Options :

; to let someone commit mistakes
éé to give a big helping hand

3& to support a person

4, : ;
« O make issues of small matters

Question id : 6100 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropniate for the phrase: Hard nosed attitude

Options :

; quality to forgive
2& protective

3. aggressive

v e

4,

* calm

Question id : 6100 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Hard nosed attitude

Options :

; quality to forgive
é protective

3. aggressive

& =

4,

% calm

Question id : 6101 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Wild-goose chase

Options :

lé collective effort
i hard worlk

3& Very profitable
i‘? Unprofitable

Question id : 6101 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Wild-goose chase

Options :

collectrve effort

hard work

®# o8> g

Very profitable
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Unprofitable

4
"4
Question id : 6102 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=advocated complete equality:

Q=1n 1854. Anthony devoted herself:

R=between men and women:

S= to the rights of women and

Options :

1@ QSRP
fk QSPR
3@ SPRQ
‘; SRPQ

Question id : 6102  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=advocated complete equality:
Q=1n 1854. Anthony devoted herself:
R= between men and women:

S=to the rights of women and

Options :

; QSRP
fk QSPR
3@ SPRQ
‘; SRPQ

Question id : 6103  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P= occur m the Earth’s mesosphere:
Q= about 40-60 miles:
R=meteors. also called shooting stars:

S: at an altitude of

Options :

; PRQS
?& PRSQ
3& RPQS
i‘? RPSQ

Question id : 6103 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=occur in the Earth’s mesosphere:
Q= about 40-60 miles:

E=meteors. also called shooting stars:
S: at an altitude of

Options :

1.
L PRQS
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2. PRSQ
#w
3.
> RPQS
4 RPSQ

4
Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

O=while talking to a group, one should feel self-confident and courageons:
P=Nor is it a gift bestowed by providence on only a few:

Q: One should also learn how to think calmly and clearly:

R It 1s like the ability to play golf: S=It 15 not as difficult as most men imagme:

T: Any man can develop his capacity if he has the desire to do so.

Options :

1. =

!, 0QsPRT
2.

> OSPRQT
3. ;

> OQRSPT
4 OPQRST
#w

Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

O=while talking to a group. one should feel self-confident and courageous:

P=Nor is it a gift bestowed by providence on only a few:

Q: One should also learn how to think calmly and clearly:

R It 1s like the ability to play golf: S=It 15 not as difficult as most men imagme: T: Anv man can

develop his capacity if he has the desire to do so.

Options :

1 s

- OQSPRT
@ Q
2. OSPRQT
#®
3. OQRSPT
#®
4 OPQRST
®

Question id : 6105 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Government by inexperienced persons 1s called.

Options :

lg Panarchy
ié Oligarchy
3? Neocracy
ié Ochlocracy

Question id : 6105  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Government by mexpenienced persons 1s called.

Options :

1. :
“ Panarchy
2. D, B
p Oligarchy
3? Neocracy
4.
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%  Ochlocracy

Question id : 6106 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Creak is the sound of.

Options :

1@ Crows
fk Doors
3&% Dogs

A; Coms

Question id : 6106 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Crealk 1s the sound of,

Options :

1& Crows
fk Doors
:; Dogs

A; Coms

Question id : 6107 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: STAID

Options :

! RESPECTABLE
2. FRIVOLOUS
<

3. STARCY

S ST

% DEMOURE

Question id : 6107 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: STAID

Options :

| RESPECTABLE
2. FRIVOLOUS
<

3. STARCY

S ST

‘; DEMOURE

Question id : 6108 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: SULK

Options :

1. N
!, COMPLIMENT
2. MOROSE
2}

3. SmENT

% )

4.

¥ GRUMP

Question id : 6108 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: SULK
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Options :

1 . o
!, comPLIVENT
2.

> MOROSE

3. SILENT

& )

4 GRUMP

- )

Question id : 6109 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration

The Indian express savs, We shall 1ssue an astrology section in our Thursday's paper .

Options

;é The Indian express says that it will 1ssue an astrology section i their Thursday’s paper.
2& The Indian express savs that thev will issues a astrology section in their Thursdav’'s paper.
3& The Indian express said that 1t will 1ssue an astrology section 1n its Thursday s paper.

i; The Indian express savs that it will issue an astrology section in its Thursday’s paper.

Question id : 6109 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The Indian express says, ~We shall issue an astrology section in our Thursday's

paper .

Options

lé The Indian express savs that it will 1ssue an astrology section w their Thursday s paper.
2& The Indian express says that thev will issues a astrology section in theiwr Thursdayv's paper.
:;é The Indian express said that it will issue an astrology section in its Thursday s paper.

i; The Indian express savs that it will issue an astrology section in its Thursday's paper.

Question id : 6110  Question Type : MCQ (Correct+ 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to inspector. “Call the thieves™.

Options :

The judge urged inspector to call the thieves.
The judge ordered inspector to call the thieves.

The judge requested inspector to call the thieves.

B 8P LD v

The judge ordered inspector to get the thieves.

Question id : 6110  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to inspector, “Call the thieves™.

Options :

The judge urged inspector to call the thieves.
The judge ordered inspector to call the thieves.

The judge requested inspector to call the thieves.

R N L

The judge ordered inspector to get the thieves.

Question id : 6111  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said, “Ugh! I have hated him™
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Options :

She exclaimed with disgust that I had hated him.
She exclaimed with disgust that she had hated him.

She exclaimed with sorrow that she had hated him.

CEE N L

She exclaimed with disgust that she had been hated him.

Question id : 6111 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said, “Ugh! I have hated him™

Options :
She exclaimed with disgust that I had hated him.

She exclaimed with disgust that she had hated him.

She exclaimed with sorrow that she had hated him.

P 8L LD w-

She exclaimed with disgust that she had been hated him.

Question id : 6112  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the people to their religious differences and strengthen
secularism i the country

Options :

lg Condemn
2, sink

3. Exhont

% Abolish

Question id : 6112  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the people to their religious differences and strengthen
secularism m the country

Options :

l& Condemn
2, sink

3. Exhon

4 Abolish

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

I have profound respect for his political

Options :

lg Personality

i Ambition

; Temperament
:; Sagacity

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  33/52
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Choose the correct option for the following blanks.
I have profound respect for his political

Options :
;@ Personality
2 Ambiti
" mbition
3.
" Temperament
4 y .
. S Ty
W agaciry

Question id : 6114 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

In spite of our best efforts. we falledto _ any new facts from him.
Options :

', Elicit

i Detain

; Eject

4 Enlis

Question id : 6114  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

In spite of our best efforts. we failled to __ any new facts from him.
Options :

', Eicit

i Detain

; Eject

% Enlis

Question id : 6115 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose from the given options and improve the sentence by replacing the words tvped m bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :

lé Know that why did the apple fall
2. Know why the apple fell

L4

; Know that why the apple fell

4; No improvement

Question id : 6115 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose from the given options and improve the sentence by replacing the words tvped m bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :

lg Know that why did the apple fall
2. Know why the apple fell

4

ié Know that why the apple fell

4. SR

“ No improvement

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  34/52
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Question id : 6116 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money
Ransom to an enemy

Money for compensation

B8P {» 8> w-

Question id : 6116 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money
Ransom to an enemy

Money for compensation

> LY 8> w-

General Intelligence/Reasoning

Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0

Subsection : 4, Question Shuffling Allowed : Yes

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In group of six women there are four dancers. four voeal musicians. one actress and three violimsts.
Giryga and Vanaja are among the violinists while Jalaja and Shailaja do not know how to play on the
violin. Shailaja and Tanuja are among the dancers. Jalaja. Vanaja , Shailaja and Tanwa are all vocal
musicians and two of them are also viohmists. If Pooja 1s an actress, who among the following is
certainly a dancer and a violinist?

Options :
1.

Tanuja
2. :
- Jalaja
éé Girija
‘;é Shailja

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o AABT & U6 g # 9 ddiedl, 9) MRET, T s 3K de

aEfeaeaT &1 =T 3R aqer aafwaieaT § 3R o 3k deeramtea
AT AET AT Ao HR T AATHAT H F §) ST, dtan, derer HR Foger T
s § 3R s § oF afes afgwde o §1 afe I=r v AfEad ¢, S sad @
HieT G Afgon HTad ®7 § UF Fadr iR aalesT arfeer &7

Options :

I CE
y o

2. e
3

3 fafer
3

4.
L
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Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The letters L. M. N. Q. P. Q_E_ S and T 1n their order are substituted by nine mtegers 1 to 9 but not
in that order. 4 15 assigned to P. The difference between P and T 15 3. The difference between N and
T 1s 3. What 15 the integer assigned to N

Options :
1.
¢ 6
2.
% !
3. =
® 0
4.,
o 4

Correct option is 1 and hence changed answer to 1.
Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
RN LMNOPQRSIHR TN A &1 § 9 dF & 37 § frell seer 9 &

garmfag R aw F Pt 4 S uldeenfg SR s 1 P AR T & dg & o s &
N 3R T & & & 37X 3 81 o N & Sfaenfid el arel e &0 9aT ednsy]

Options :
1.
¢ 6
2.
w !
3.5
w 0
4.
o 4

Correct option is 1 and hence changed answer to 1.

Question id : 6119  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Five people A. B. C. D and E are seated about a round table. Every char 1s spaced equadistant from
adjacent chairs. C 15 seated next to A: A 1s seated two seats from D: and B 15 not seated next to A
Which of the following must be true?

(D D 1s seated next to B
(II)  Eis seated next to A

Options :

1. ~

“ (D) only

2. :

p (IT) only

f? (I) and (ID) both
‘; Neither (I) nor (II)

Question id : 6119  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U ST A, B.C.D 3R E U aliel A WX 45 71 Gedeh T el darer dr FA & GAA

W R TSR C, AT T Fdor §; A, D W ar dic Bisax 9T & B, A & @9
H g Yo ¥ sAE & P W wuwT w2

(I) D, B % HHT &aT §
(I E, A% @97 # dar &

Options :

L #aer@

2.

w  hael ()

3. 5

v (D) 3R AD et
L FeoTdm

Question id : 6120  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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There are six villages A. B.C.D. E and F_ village F 15 1 km to the west of D. village B 1s 1km to the
east of E. village A 15 2 km to the north of E. village C 15 1 ki to the east of A. village D 15 1 km to
the south of A. which three villages are in a line

Options :

L acE
fk AD.E
3 ABC
4 DEE

Question id : 6120  Question Type : MCQ (Correct+ 1.0, Wrong - 0.0) _
A B.C.D.E3RF @5 &: aifa &1 aia F, D & 9f9s # 1 . gff w o &) ama

B.EF ud # 1 B o w Rua §1 71fd A, E & 3ea¥ 7 2 . qft w Rem
aa ¢, AF gd A1 A g W Rua §1 A D, A & gfaor 7 1 sl a8
s F Pl F AT AT v yEr 7 a2

Options :

L AcE
fk AD.E
3 ABC
Y DEE

Question id : 6121 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Mr. kumar drives to work at an average speed of 48 km per hour. The time taken to cover the first

60% of the distance is 10 minutes more than the time taken to cover the remaining distance. How far
15 hus office?

Options :

L 30Kkm
2, 40Km
3 48Km
4 56Km

Question id : 6121 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
A1 FAR FA W A F A0 48 el of g2 &1 stwa afa § e =erad 81 g

& ugel 60% HET & O A 7 o TR @A A9 g & Hal Sl H e arel
THT & goren # 10 fAde S 81 3ae dRied Ehaer oy 87

Options :

L 30km
2, 40Km
3 48Km
A; 56 Km

Question id : 6122 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A train travels at a certain average speed for a distance of 63 km and then travels a distance of 72 km
at an average speed of 6 km/hr more than its original speed. If it takes 3 hours to complete the total
journey. what is the onginal speed of the tram 1n km/he?

Options :

1. 60

#
2.
¥
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42

w9

36

Question id : 6122 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
s e 63 frelidey & gfr v Afeaa sitwa afd & a7 a=xdr § 3k 399 ag 72

A & gff e aeafas ofa § 6 fhAL/Ee o s3mer & g 7 F Fer
81 el T F QU A & 0 SH 3 G o 8. A T drediad i mALEe A

T 7
Options :
Lo
2 54
5, n
1 36

Question id : 6123  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the next number of the sertes: 1.5, 2.3, 31,39, ..

Options :
93

6.5

4.7

> LY 8D w-

16.8

Question id : 6123  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Sl # 3TN §EAT &I Ol @M 15.23.31.39,

Options :
Looo3
2 65
5 47
4 168

Question id : 6124  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the next pair of numbers of the sertes: 21, 25, 18,29 33, 18.... . ...

Options :
37.41

37.18

®H ow> owd {—

Q_uestion_ id : 61 24_ Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ST H 39Tl TEAT SIS & Iar o@md: 21,25, 18.29.33. 18

Options :

1. .
< 37.41

2.
. 37.18
3.
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Question id : 6125 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the wrong number of the sertes: 1. 3. 10 21, 64.129_356_ 777

Options :
ko120
2, 356
3 64

Lo

Q_uestion_ id : 6125_ Question Type : MCQ (Correct +1.0, Wrong - 0.0)
Al # FTeTd GEAT BT 9ar o9me: 1.3, 10, 21, 64.129. 356, 777

Options :
Lo
2, 356
364

Lo

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code MIND is written as kglb. ARGUE as vpesc. How DIAGRAM will be coded in the

same code?

Options :

1& bgvpevk
i bgvevpk
f? bgyepyk
‘g bepgyyk

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e TofFaa #is & MIND &l kelb, ARGUE T vpesc foi@ 9T &, of Saf &5 &

DIAGRAM @ FF forar Ameam?

Options :
bgypevk

bgyevpk
bayepyk

bepzyyk

#H LY 8> g

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code SISTER. 1s written as 535301, UNCLE as 84670. BOY as 129 How SON will be

coded i the same code?

Options :

Lo
2 793
3
4.

GET IT ON

Google Play
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¥ 524

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
s [af9ad w5 F SISTER &1 535301, UNCLE &I 84670. BOY &1 129 foi@r Sarm &1 4T

FIs H SON &l &y for@r smeen?

Options :
243

793
872

324

LB v 8> g

Question id : 6128 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Qut of 4 alternatrves. 3 forms a group. Find the odd one out.

Options :

L 32156
2 34901
3, 33338
4 37

Question id : 6128 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
4 fawedt # W3 ve THF aad ol OuH GEeT & g

Options

L 32156
2 34901
3, 33338
4 37

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
BANANA is related to FRUIT in the same as CHREYSENTHEMUM is related to.

Options :
GRASS

TREE
STONE

FLOWER

LB w» wd w-

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

e, Fell ¥ 3 TSR Gafad § S UER daersar T wafaa g
Options :

1.

g T

2. gay

. 3

3 TR

4. el

Q? o™

Question id : 6130  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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Ram ranked 13™ in the class of 33 students. There are 3 students below Suresh rank-wise. How
many students are between Ram and Suresh?

Options :
1.

. 12
2. ;
v 14
3.

. 18
4. 5
x 22

Question id : 6130 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
33 BT & FET A A 13 § T W ET {F & BT T GUA & o= 5 S 71 TH

R Ty & & A o

Options :
1.

. 12
2. ,
< 14
3.

w 18
4. 17
« 22

Question id : 6131 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Sonia was walking on the street when one lady approached him to donate for cancer patient. She
gave her a rupee more than the half of money she had. She walked a few steps more when a girl
approached her to donate for poor peoples’ fund and she gave 2 rupees more than the half of the
money he had then After that a boy asked her to donate for blind’s fund and she gave 3 mupees more
than the half of the money she had then. In the end she was having 1 rupee left in his hand. How
much rupees Sonia was having in the beginning?

Options :
L0
f? 2
3 54
1 16

Question id : 6131 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Hiferar 55 W gA W off J9 UF AGET F 39H Tah he W & 0 a §F o Ferl

300 39 AGET &l 3Tl UTH 3Ueled] o6 & HIUE AT A O U ®IU SAET T Ur &
&Nl 9 FO o ded HE @ M & vk AsdHr A 3§ G Al & FIT A g & A
FET 3T W & 3T 9T UTH I 9 & 3T S99 § 2 FIT AT dr ufer &
IS A6 U oiSth of 39 Hell & Uk HIT H &l Hled H Hgl df 390 34 39 919
IUe=er TSN & AT 90T & 3 ®OU ST & ufer & 39 399 U a1 w9ar
| Wi & 9 Eard H feoe T 9

Options :
L0
2 @
3 54
412

General Aptitude/Numerical Ability
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Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0

Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6132  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the value of X for: (12.11)2 + (X)? = 732.2021

Options :
L 202
2, 12
3 ;30
4102

Question id : 6132  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
A 158 1T FWHROT & foIv X &0 Al ATd &

(12.11)% + (X? = 732.2921

Options :
Loo202
f? 242
3 231
4102

Question id : 6133  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(1024-263-233) = (986-764-136) is equal to.

Options :
Lo
2 6
307
R

Question id : 6133  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
(1024-263-233) = (986-764-156) fhaer <& &7

Options :
Lo
2 6
507
A

Question id : 6134  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the value of X for: 36% of 850 + x% of 392 =730

Options :
73

QP wY w8D g
(] ()
(B o

-]
wh
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Question id : 6134  Question Type : MCQ (Cor_rect +1.0, Wrong - 0.0)
A 158 1T WHRIOT & v X &0 Al ATd &

36% of 850 +x% of 592 =730

Options :
L7
2 89
3w
o

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The sum of the digits of a two digit number 15 12. If the new number formed by reversing the digits
15 greater than the original number by 34, then what will be the onginal number?

Options :
PR:
2 48
f? 39
4 o3

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ar 3T aTel W& F e & AT 12 §1 AfE AT T & 3 & T H O agd

FE UF 75 9ET 945 A ¢ o1 6 Je g § 54 3w §La §o | &= g

Options :
Lo o8
2 48
5,
B

Question id : 6136  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the fraction. twice the numerator 1s two more than the deneminator. If 3 1s added to the numerator
and the denominator each. then the resultant fraction will be 2/3. What was the original fraction?

Options :
5/18

6/13

P w» 8> s-
s
(=)

712

Question id : 6136 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Teh 39T (fraction) #. 2T IR A= A=F § 21 e IR0 =ar §1 afe a=7 3R 9=

U # 3 ST AT §ar 30 aROmer 37er 2/3 9w Srar ) wHe 3{er @ o

Options :
5/18

6/13

QP wY 8wV g
G
(=1
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Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the fraction 8/5. 7/2. 9/5. 5/4. 4/5 are arranged m descendmng order of their values. which one will
be fourth?

Options :

Loows
2, s
395
Lo

Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
8/5.7/2.9/5. 5/4. 4/5 331 T Sk Fedl & HaG! H A for@n Sar ¢ ar 9 wue w

N -1 K
Options :
Looas
2, sn
3 o5
1o

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two taps can fill a tank individually in 10 min and 20 min respectively without any leakage.
However, there 1s a leakage at the bottom which can empty the filled tank 1n 40 min. In hew much
time will both the taps fill the tank with leakage?

Options :

1. -

8 mmutes
4
2. Pt E
P 7 minutes
3. 10 minutes
* :
ié 15 minutes

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
E1 e faanr fonet @ & Ush & ol sen: 10 fise 3T 20 e & s gwa 8

amﬁ_ﬁﬁﬁwﬁwaf?wﬁ%ﬁ%mgvhﬁwﬁmtﬁ@ﬁﬁwmﬁﬂﬁﬂﬁ
& I EieT 5o dah Wl Tohdel THT H #T &9

Options :

1. T
' &

2. 7 TAAT
#

3. 10 fi=Te
#

4. 15 e
#

Question id : 6139 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If successive natural numbers are written m a row starting from 1. which digit appears in the 20
place?

Orh

Options :

1.
& 0
2.
% 3
3. =
® 2
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4. 7
@

Question id : 6139 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g T OfFd # TEOE T 1 E Sl oTaR fordl ST, dr 200 F T A i

T 3Tk grem?
Options :
1.

¢ 0

2.

x 3

3. 5

w 0

4.

x !

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Trains leave the stations A and B simultaneously after an interval of every 1 hour. Each tram takes 4
hours to complete the journey. If a person starts from the station A for the station B. how many trains
will he cross before arriving at the station B?

Options :

L,
x 1
2. 5
% O
3.

@ 7
4.

« 8

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Toremfear A 3T B Tl @ 1 €€ & Holiel & Ua 919 Sisdl ol Ucde LeEnedr arEr

& O e & T 4 g9 odl §1 37 ve 9fea T B W o & foiw veua A @
o FAT & o 95 TAT B W UG § Ggel kel MSTT & GR HIM?

Options :

1.
P 4
2. 5
G 9
3.

v 7
4.

* 8

Question id : 6141 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A person travels three equal distances at a speed of x km/h, v km/h and z km'h respectively. What 1z
the average speed for the whole journey?

Options :

xvz/ (xv + vz + zx) km'h
(xy +yz + zx)/ Xyz kin'h
3xvz/ (xv + vz + zx) km'h

xvz /3 (xv+vz+zx) kmh

wH LY 8> v

Question id : 6141 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U fEd A S g4 @1 AT wEer x A Eer y e s 2 e Ee #r

A & o et g, & off A & v stea afa w=

Options :

1.
#®

2.

xvz/ (xy +yz +zx) Toh.#Hr/ger
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% (xy+yz+z)/xyz) TRALE

3xyz/ (xyv +vz+zx) Th.ALEE

P ¥

xvz/3 (xv+vz+zx) Th.HLEET

Question id : 6142 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The average of 3 consecutive numbers 15 x. If the next two numbers are also mncluded. how shall the

average vary’

Options :

; It shall increase by 1

i It shall remain the same
:;é It shall increase by 1.4
‘; It shall increase by 2

Question id : 6142 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
5 oemdR et o Adieg « &) afe deer o geane o enfie e o |re ar siea

FG #F g o g Iiads smen?

Options :

Lomm i

2 g 3aer & e
3@ g 1.4 ¥ d¢ S
; TE 2 F dg AT

Question id : 6143  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A goat 15 tied to one comner of a square plot of side 12m by a rope 7m long. Find the area it can

graze?
Options :
lg 68.5 m?
é 38.5 m?
é; 55.5m?
1; 63.5m?

Question id : 6143 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T Rl T 12 e S S ardl @9 & U FIA R 7 e ofFe T F A g

21 = sawe & 9% TN Thal ¢ 39 &% & 9dT oI

Options :
L 68,5 @t s
2. .
w385 @ AT
3. 55.5 @t A
1 63.5 @l o

Question id : 6144  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 cats caught 10 rats m 10 seconds. How many cats will catch 100 rats m 100 seconds?

Options :
1.
5 100

2.
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® 30
3.

& 10
4. 55
.« 25

Question id : 6144 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 fafeert o 10 #Fs # 10 =7 &1 g&s fo@r) 100 dFs # faastr fafeear 100 =pr

F THs3T?
Options :

1.

o 100

2. %

e 30

3.

v 10

4 55

€ 23

Question id : 6145  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Speed of a boat 1n st1ll water 15 8 kmv/hr. It goes 24 km downstream and comes back to the starting
point in § hours. What is the speed of water in the stream?

Options

L S5kmn
2 35kmh
3, 40kmh
% 62kmn

Question id : 6145 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT ST H T o &7 afg 8 FRA/Eer § 9w 24 TR aw f B 7 o= & v

3R a9 URIEE g uge # 8 HE N AT oAl §) Uil #F O H AT F=4r 67

Options :

1. T 4
w OS5 Tea e
2 3sfRaE
3. z
v 10 o ./
1 erfRaE

Question id : 6146 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a class of 100 students. 50 passed in Maths and 70 passed m English. 5 students failed in both

Maths and English. How many students passed in both the subjects?

Options :
Looss
2. g
v
38
4.

.

Question id : 6146  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
100 ST &1 weh Far A 50 B Ao # AR 70 © 3@ & 3T §U.5 B I

3R srarelt @t @ ol 1 Rrae o g v & Set gw
Options :

1.
35
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3
2. e
2, 2
S
4,
Lo37

General Knowledge/Awareness

Section type : Online, Number of Questions to be a pted:10, Mandatory or Optional: Mandatory, Section Marks: 10.0

Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6147 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
World war II began by German invasions on.

Options :

1. s

% Russia

2.

P France

% United Kingdom
4,

& Poland

Question id : 6147 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

fada faeaag O ST & AT & HTA E G A
Options :

1.

s o

2. i

L W

3 faea

®

4 g

L4

Question id : 6148 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
On 15 February 2013. the Chelvabinsk Meteor hit.

Options :

1@ America
2@ Canada

; Mexico
:‘? Russia

Question id : 6148 Ouesti_on Type : MCQ (Correct + 1.0 , Wrong - 0.0)

15 TIERT 2013 &, Toadriatd HeR (Chelyabinsk Meteor) 3oehT &gl U 91T off?
Options :

Lo smRa

2 st

3 afeew

i‘? &7

Question id : 6149  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Who has won the FIDE World Rapid Chess championship title 20157
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Options :

Magnus Carlesen

L

Vishwanthan Anand

Teimor Radjabov

gH gL ad>

Fabiab: Caruana

Question id : 6149 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
firs (FIDE) Taeg s ooR=r IfFaa=targ 2015 & oo frge Siar ar?

Options :

; oo rorad

2 faegerye e
3. feeR TeEeE

4 ofasmer FesTer

Question id : 6150  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Washington Accord 15 an international accreditation agreement for educational degrees m.

Options :

1& Arts and Humanities
éé Medical Science

3. E 2y -

v ngineering

ié Social Science

Question id : 6150  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

EHEIEICG RGO Fr deTiore Bl & BT va OIS Areadr yed
AT B

Options :

g el 3 ATaar

é Rfhear faara

3. sohferfr

s

Y e e

Question id : 6151 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In India. inflation 15 measured by

Options :

l? Wholesale price index number

2& Consumer price index for urban non-manual workers
3& Consumer price index for agricultural worleers

2; National imncome deflation

Correct option is 1 and hence changed answer to 1.

Question id : 6151  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
R 7 HEHT Z@nT AT AT B

Options :
; oA Hed adid FET


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

agll M-AATHFT F AU sustierar Hea qaFw

2.
¥
3. AT AAT FHEREA & A susEdr e gEw
4 s s smed

Correct option is 1 and hence changed answer to 1.

Question id : 6152  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
National income 1s.

Options :

lg Net National Product at Market price
éé Net National Product at factor coast
-:’? Net domestic product at market price

ié Net domestic product at factor cost

Question id : 6152  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

TSET AT FAE?

Options :

L R e W w TS 37
2 Tt AR WY TR 309G
3, 9NIR el W YR W 379G
4 T AR WG W 3008

Question id : 6153  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Organisms that generate energy using light are:

Options :

1. : :

“ Oligotrophs

2& Chaemorganotrophs
3; Chaemolithotrophs
4. Photoautotroph

v otoautotrophs

Question id : 6153 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

SRIRT ST ST X Fofl Scdead HXl A ST &
Options :

lsé FTEEEIF (Oligotrophs)

2@ dﬁq:ﬁﬁ‘dﬁﬂﬁ’;’j‘tﬁ (Chaemorganotrophs)

; FAEIEF (Chaemolithotrophs)

:1? q-ﬁﬁﬁﬁﬂ'tﬁ {Photoautotrophs)

Question id : 6154 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which technique 1s used for the study of land use pattern?

Options :
Aerial photography

Satellite imaging

Satellite imagmg and GIS

Sl LR L In

Satellite imagmg. GIS and GPS
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Question id : 6154 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HH I Yoot & Fegda & forv R daeiies &1 wder R S 6

Options :
FaTS WIETAThT (Aerial photography)

eomse sAfST (Satellite imaging)
Teonse sAfar 3N SA3svE (Satellite imaging and GIS)
Teomse sAfee, Sy 3R Sded (Satellite imaging. GIS and GPS)

P ww wD x—

Question id : 6155 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Particle size in so1l can be classified as

clay: 1-4 micron.

Silt: 4-62 micron.

Sand: 62-1000 micron:
Boulder: = 1000 micron.

In nature particle size distribution follows:

Options :

Binomial distribution

Lognormal distribution

Linear distribution

QP wY v g

Normal distribution

Question id : 6155 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

T # FUT AR T 39 IR § adiiehd AT ST Fehell §

et edn 14 A, W1 (Foe) 4-62 AGHI, dres fAee 62-1000 ASH, St =
1000 FTSHIT| UHfd F H0T HHR & fFalor 50 UK &

Options :
gfaue Taervr (Binomial distribution)

STEHTHATT TaaRYT (Lognermal distribution)

@@ faeRoT (Linear distribution)

QP x> wD x—

AT TaaRoT (Normal distribution)

Question id : 6156  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following latitudes passes through India?

Options :
Equator

Arctic Circle
Tropic of Capricorn

Tropic of Cancer

P w wD g

Question id : 6156  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fFrafafad # ¥ wla & 3@ AR W glER AR 67

Options :

g STFE 3T
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